
f=1/T

T= t(on) + t(off) = 2 *  0,7 * (R1+R2)[Ohm] * C1[Farad] 

T(min)=2 *  0,7 * (1000+0) * 0,0000001

T(min)=2 *  0,7 * 1000 * 0,0000001 = 0,00014s = 0,14ms

T(max)=2 *  0,7 * (1000+5000) * 0,0000001

T(max)=2 *  0,7 * 6000 * 0,0000001 = 0,00084s = 0,84ms

f= 1/0,00084 = 1190Hz = 1,19kHz

f= 1/0,00014 = 7143Hz = 7,143kHz

Einstellbereich:

t(on) = t(off) =  0,7 * (R1+R2)[Ohm] * C1[Farad] 

N
E
5
5
5
N

+
5
V

GND

+
5
V

100n

GND

1
k

5
k

IC
1 T
R

2

Q
3

R
4

C
V

5

T
H

R
6

D
IS

7

V
+

8
G

N
D

1

C1

R
1

R
2

1
2

3

OUT

A

B

C

D

1 2 3 4

A

B

C

D

1 2 3 4


